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Private Sub Form_Click()

Dim pi As Double 'pi: =

Dim ITGL As Double 'ITGL: BB 1H

pi =4 * Atn(1#)

R 61T Rl AR E S

g=10 'g: EIINEE

L=1 'L: AB H&RBEEERY —

v0 =2 'vO . ¥

a0 =0 'a0 @ FH 7T TNER(0°)

b0 =30 'b0 = thita0 : &4 _FFE(angle)
=50000 ' o EE L 0 E S

chan = pi/ 180 'chan : F§ SO0 EAYHE B
a =a0 * chan 'a: By N R(rad)

b = b0 * chan 'b = thita0 : &4 _F B (rad)
fo=(b-a)/n "0« R A R #
s0 = Sin(b)

c0 = Cos(b)

fx0 = IntegralS(a, L, g, v0, s0, c0) 'IntegralS(x, L, g, v0, s0, c0) : & 47 el
fxn = IntegralS(b, L, g, v0, s0, c0)

S=0

Forh=1To(n-1)

x=a+f0 *h

fx = IntegralS(x, L, g, v0, s0, c0)

S=S+1fx

Next h

ITGL = f0 * (0.5 * (fx0 + fxn) + S)

Print n

Print ITGL

End Sub

"EIFE =

Public Function IntegralS(ByVal x As Double, ByVal L As Double, ByVal g As Double, ByVal
v0 As Double, ByVal s0 As Double, ByVal c0 As Double) As Double

IntegralS =L/ ((v0O *s0) ~2 +2 * g * L * s0 * (Cos(x) - c0)) 0.5

End Function
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